SHAE4LR 48 BEt 445 H 58 Rt 446 H EES

#® W HnE XBIELE HE XA HE XA EE HE SR EE HE SR EE HE SR EE

kg % kg % kg % kg % kg % kg %
L & 3,718,141 106.8 3,718,141 106.8 2,795,902 88.2 6,514,043 97.9
INIIN—F—I8TF 4 B o ol ——— ol ——— ol ———— ol ————-
& E 3,718,141 106.8 3,718,141 106.8 2,795,902 88.2 6,514,043 97.9
£+ % 0] —- 0] —- 0| ——- 0| ——-
FILRNDIN—=FRT—F |48 # 132,544 102.2 132,544 102.2 127,316 95.9 259,860 99.0
& &t 132,544 102.2 132,544 102.2 127,316 95.9 259,860 99.0
L & 0] —— 0] ———- o ——- o ———-
FILRE—rR—JL z % 0 0.0 0 0.0 1,129 273.4 1,129 155.7
& E 0| ——- 0| ——- 1,129 2734 1,129 155.7
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SH4E108 108 &5t SH4E11 8 118 &5t 45128 128 &5t

7 1A #E XTRITEELE e XTRTEELE ¥ E XTRTEELE ¥ E SR LE H = SR L H = STHIELE

kg % kg % kg % kg % kg % kg %
L %
NDIN—H—I\T4 2%
& 3
£ %
FILRNYN—TRTF—F% |8 #
& B
L %
FILEE—hR—)L = %

=1




5518 18 Bit 5528 2B Rt SH55E3 8 REESS

% = STRTEELE =2 STRITEE L = STRITEE L #H =2 STRITEE L H = STRITEE L #H = SR L

kg % kg % kg % kg % kg % kg %
I %
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